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BEFHE 5F 500m

SU>R BRI No K& P AR BRima0ix MAh %

v 1 2 =5H B BSTC 1-1-1 47.890 1000
2 6 KH EpE Vortex 2-2-2 49.490 800
3 1 B8R H5R BSTC 3-2-1 51.260 640
4 13 bK BEE )11 ZE— K2 — MOMER] 4-1-1 52.240 512

AERES 5 9 fl AKX Vortex 3-1 52.630 410
6 12 #sK K& Vortex 3-2 52.180 328
7 10 fl RX Vortex 4-2 53.790 262
8 8 Jtil % Vortex 4-2 53.940 210

FiE 9 7 WA AKX Vortex 3 53.240 168
10 14 #L £ #BIIRE—RRT— MR 3 53.860 134
11 5 3FH =3 BERER 3 55.230 107
12 4 RiE B BRER 3 56.970 86
13 11 FAlF RE Vortex 4 56.320 69
14 3 WA Xid BSTC 4 58.860 55
15 15 B F* )11 2E — K24 — MOMER] 4 1.07.890 44
16 16 KFEp B HB)NZE— R — MO ER 4 1.13.470 35
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